= oL,

ohe H40] Uil

36+ —

45

e

ull




= oL,

ohe H40] Uil

2.

10O | 00

0|




= oL,

ohe H40] Uil

3.

1
1=
©7

1
1=

@

1
9

®1

o0 | S

b~ |00







15
7

14

@ 7+14

15 °
@)14 =7




KX
=

124

A

o}, 7 Afole]

R

3t

(5}

tel

(9

7

€

o
48 5

T

LI

7
e LR | R L |

Fel U7
&y,

\z

O]

A

Hol 5749 A Aol
ut=2

]
=

- <t 0o

L o




AL,

o

A A

on
mn

a5t} O kel >, =, <

jan
]

a7

(2l Kar}

<t I~

™ o

M~ o

-

ul

8
27’




3 gto] 2

I AL

B
*|O
NE
<O

Nfo

ojn

Olx

ol

Ol ol
X

<100[¥
Q' ©

*x|O<lO

Ol<¥|o
© @

T
N
Ol
=

O
X

x

O
X
<

(axO)+ (kxnO) =




9.

@*@z(@+©)+(®—@)°l‘1¥1%§q’(
oA L.
> E:
=1 1
>aeEl 1

— % —

5 6




10.

ik mt Q) A5 RAZ gt Ll Azt D moln A2

1
7t 1= m ¥ o, Fol= ¥ mYu7t?

3 4 1 2

28949 ol [ Jmet she
gxléxljzlg
D:12+2+1;

6 1 1
D=?x§x%=§=1§<m>




